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Student Name: Date:

H.W 1 >> Lesson 6-1

1) Is 7, 8, or 9 the solution of the equation 4. 7 + x = 12. 72

2) 15 8, 9, or 10 the solution of the equation z + 8.9 = 17.9?

3) Is 13, 14, or 15 the solution of the equation a + 12.3 = 27.3?

4) 15 18, 19, or 20 the solution of the equation 3. 6 + r = 21. 62

5) 15 10, 11, or 12 the solution of the equation b—3. 3 = 8. 72

6) Is 13, 14, or 15 the solution of the equation z — 6. 4 = 7. 6?

7) I5 10, 11, or 12 the solution of the equation e — 4.9 = 5. 1?

8) Is 16, 17, or 18 the solution of the equation i— 8.2 = 7. 82

9) Is 7, 8, or 9 the solution of the equation 4. 25y = 342
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Student Name: Date:

HW2 >>> Lesson 6-2

1) On Monday and Tuesday, Daniel’s service group collected of 48.4 pounds of cans for recycling. The
group collected 23 pounds of cans on Monday. Which addition equation could be used to find the
number of pounds of cans p Daniel’s group collected on Tuesday?

O 48.4+23=p
O 23+p=148.4
O 48.4+p =23
O 48.4+23 =p+23

2) Jsabella and Tiana have a fudge business. Last weekend, they made a total of 12.8 pounds of fudge.
Isabella made 4.6 pounds of fudge. Which addition equation could be used to find the number of
pounds of fudge ¢ Tiana made?

O 46+12.8=t1
O t+12.8=4.6
O 46+1=12.38
O 4.6r=12.8

3) Jaylen and Destiny bought a video game that cost $65.75. Jaylen contributed $43 to the cost of the
video game. Which addition equation could be used to find how much money d Destiny contributed to
the cost of the video game?

O 43+d=65.75
O 43=65.75+d
O d=65.75+43
O d+65.75=43

4) Elena’s parents agree to pay for part of a computer that costs $845.75. Elena’s parents contribute $380
to the cost of the computer. Which addition equation could be used to find how much money ¢ Elena
must contribute to the cost of the computer?

O ¢ =845.75+ 380
O c+845.75 =380
O 380c = 845.75

O 380+ c=845.75
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Student Name:

HW2 >>> Lesson 6-2

Date:

10) Solve 17 = 8 + b.

12) Solve 9 + g = 23.

e

13) Solve 2% +x= 7%.

14) solve 5% +z= 8%.

15) Solve 6% = 1% + ).

y—_
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Student Name: Date:

HW2 >>> Lesson 6-2

16) Solve 11% =5+ 3%.

17) Solve 12.35 = 4.85 + n.

18) Solve 14.65 = 3. 15 + r.

19)
Solve for u.
N 2 4 1
uT _ =494 _
3 2
u e
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Student Name: Date:

H.W 3 >>>> Lesson 6-3

1) Brianna’s gymnastics club collected 83 toys for a toy drive. This is 26 fewer than the number of toys
collected by Latoya’s dance team. Select a subtraction equation that could be used to find the number of

toys collected by Latoya’s dance team.

O 26-t = 83
O 83-1=26
O 26-83 =1
O -26 = 83

2) The Tigers soccer team scored 38 goals last season. This is 19 fewer than the number of goals scored
by the Cubs soccer team. Select a subtraction equation that could be used to find the number of goals

scored by the Cubs soccer team last season.
O g-19=38
O 19-g=38
O 19-38=g
O 38-g=19

3) Ruby is 7 years old. She is the youngest of her siblings and 12 years younger than her oldest sibling.
Select a subtraction equation that could be used to find the age of Ruby’s oldest sibling.

O 12-a=7
O a=12-7
O a-12=7
O a=7-12

4) Water in an ice tray was cooled to 32 degrees Fahrenheit. This is 43 degrees less than its starting
temperature. Select a subtraction equation that could be used to find the change in the temperature of

the water in degrees.

O 32-43=w
O 43-32=w
O 43-w =32
O w-43 =32
Copyright © 2024, McGraw-Hill Education. 1/7
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Date:

Student Name:

H.W 3 >>>> Lesson 6-3

9) Solve 17 = b-8.

M) Solve i—6 = 18.

12) Solve d-3 = 11.

13) Solvey — 4% = 2%.

y—__

14 _122 _gl
) Solve 7 39—93.
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Student Name: Date:

H.W 3 >>>> Lesson 6-3

15) Solve 1% =r— 7%.

16) Solve 13% =s—1

\O |—

17) Solve 5. 8 = f—3. 35.

f=_

18) Solve 4. 35 = ¢—6. 25.

q~-__
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Student Name: Date:

H.W 4 >>> Lesson 6-4

1) Carlos and his friends go to a movie. The total cost of their tickets is $110, and each person pays
$13.75. Which multiplication equation can be used to find how many people m buy tickets to the
movie?

O 13.75m = 110m
O m=13.75(110)
O 110m =13.75
O 13.75m =110

2) Danisha sells necklaces she makes at a craft fair. She earns a total of $152, and each necklace sells for

$9.50. Which multiplication equation can be used to find how many necklaces » Danisha sells?

O n=152(9.5)
O 9.5n =152
O 152n=9.5
O 9.5n =152n

3) A toy tester finds that a new battery-operated car takes % hour to travel a mile. The toy car travels for

2% hours before running out of battery power. Which multiplication equation can be used to find the

number of miles ¢ the toy car travels before running out of battery power?

3
O 2§C

4) 1t takes % hour to fill a gallon container with liquid soap from a dispenser in a factory. Yesterday, the

dispenser ran for 3% hours. Which multiplication equation can be used to find the number of gallons of

soap w that were dispensed?

O3iw=2
2., =131
O EW =3 3
— 2 (21
Ow= 5 (33)
2., =131
@) W= 3 W
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Student Name:

H.W 4 >>> Lesson 6-4

Date:

10) Solve 24 = 6y.

y=__

11) Solve 8f = 40.

f=_

12) Solve 35 = 39.

-
(%))
—
w2
@)
=
<
(¢}
Alw
N
Il
{4

14) Solve ?a =

W[

15 1 _2;
) Solve s 31.
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Student Name: Date:

H.W 4 >>> Lesson 6-4

16) Solve % = -m.

1
2

17) Solve 36.33 = 4. 2v.

<
Il

18) Solve 6. 3g = 47.25.

q—__

19)
Solve for n.

2,230
6"

Copyright © 2024, McGraw-Hill Education. 4/9

This content was printed for the exclusive use of licensed stydents.
XS 050717 5602 | 050 901 6674 —



Student Name: Date:

H.W 5 >>> Lesson 6-5

1) Enrique uses 6.94 ounces of dough to make a pizza. He makes 27 pizzas on Tuesday. Which division
equation could be used to find the total number of ounces of dough p Enrique uses on Tuesday?

O &% _ 97
p
Op= 694
O p+6.94=27
O 27+p=6.94

2) Sarah walks the same number of miles each day on her treadmill. She walks 3.5 miles each day for one
week. Which division equation could be used to find the total number of miles w Sarah walks during

that week?

O 35+w=7
7 _

O E_W

O w=35+7

O w=3.5=7

3) A dog groomer has 295.2 ounces of dog shampoo. The groomer uses 2.4 ounces of shampoo to wash
each dog. Which division equation could be used to find the total number of dogs d the groomer can

wash?
O d+295.2=2.4
O 22 =24

24
O ==24
O 4

U

4 =295.2

4) Sam’s skateboard company has 457.6 feet of wood. Sam uses 3.2 feet of wood to make each
skateboard. Which division equation could be used to find the total number of skateboards s Sam can

make?

O ﬁ =3.2

O s+3.2=457.6
O £ -32

O 3.2+s5=457.6
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Student Name:

Date:

H.W 5 >>> Lesson 6-5

9) Solve 13 = ‘3)

11) Solve % = 8.

12) Solve % =17

13) Solve % = %
c :_
14) Solve % = %

qg=-__
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Student Name: Date:

H.W 5 >>> Lesson 6-5

15) Solve %

AN~

O]~

17) Solve 6. 53

<
Il

18) Solve 8. 45 =

%
6.32°
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Student Name: Date:

H.W 6>>> Lesson 6-6

1) A pizza company has a rule that its pizza must be delivered in fewer than 24 minutes or it is considered
late. Which inequality represents the time ¢ in minutes in which the pizza must be delivered before it is
late?

O <24
O t>24
O tL24
Ot>24

2) A customer gets free shipping when the cost of a purchase at an online store is more than $35. Which
inequality represents the amounts in dollars d a customer must spend to get free shipping?

O d<35
O d>35
O d<35
O d=35

3) To ride a roller coaster, the rider must be at least 48 inches tall. Which inequality represents the height
in inches i that makes a rider tall enough to ride the roller coaster?
O i<48
O i>43
O i<48
O i>48

4) No more than 36 children can safely ride on the bus to go on the field trip. Which inequality represents
the number of children ¢ who can safely ride on the bus?
O c>36
O c2>36
O ¢c<L36
O c<36
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Student Name: Date:
H.W 6>>> Lesson 6-6
5) Which of the following shows the graph of the inequality u < —0. 52
O - l e ——— I I I —
-2 =15 -1 =05 0 05 1 1.5 2
o ——"F—"F+—"F—F+—¢—F—+—+—
-2 =15 -1 =05 0 05 1 1.5 2
O —t—t—t—F————f—F—>
-2 —-15 -1 -05 0 05 1 15 2
O >
-2 =15 -1 =05 0 05 1 15 2
6) Which of the following shows the graph of the inequality m > 1. 62
o -—t—"—"F—F+—+———+—+—+—+—
1.0 12 1.4 16 1.8 2.0
OIS T R —— —t—+——
1.0 12 1.4 16 1.8 2.0
O —t——4—+—+—————t——>
1.0 12 1.4 16 1.8 2.0
o ——+——+——t+—+——t—st—vt—vt—>
1.0 1.2 1.4 16 1.8 2.0
7) Which of the following shows the graph of the inequality ¢ < —3. 752
O = —F——F——F——F——F+—F——
—4 —3.5 —£] —2.5 —2
O €—+—¢— | | I I I —
—4 —3.5 -3 —25 —2
Ot
—4 —3.5 =3 —25 —2
Ottt
—4 —3.5 =3 —25 —2
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Student Name: Date:

H.W 6>>> Lesson 6-6

8) Which of the following shows the graph of the inequality r > —2. 25?

O *——f—t———f———————+—
—4 —35 =3 —25 =2

O e ——+——
—4 —35 -3 —25 =2

O—-A——+—+—++ +
—4 —3.5 -3 —25 —2

o—
—4 —-35 -3 -25 -2

9) Which of the following shows the graph of the inequality i > — % ?

O ——F—F—F—F——+—+—+>
-2 1 —1 1 0
2 2
o —F—+—F+—F+—+—b—+—++>
-2 41 —1 1 0
2 2
O l i i —— i —
-2 1 —1 1 0
) 2
O «— l i i —e—— i —
-2 1 —1 1 0
) 2
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Student Name:

H.W 6>>> Lesson 6-6

Date:

10) Which of the following shows the graph of the inequality u > % ?

O «— l ® I I I I -
o 1 2 3 4 a2
5 5 5 5 5 5

O = : : b : : | | -
o 1 2 3 4 2
5 5 5 5 5 5

O —F—F——F— —
o 1 2 3 4 2
5 5 5 5 5 5

O = I I & ' ' ' —
o 1 2 3 4 1,2
5 5 5 5 5 5

1) Identify which of the following are solutions of the inequality z — 3 < 9 by dragging each value to
the appropriate bin.

solution

not a solution

Answer Bank

n 12 13
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Student Name: Date:

H.W 6>>> Lesson 6-6

12) Identify which of the following are solutions of the inequality & + 6 > 23 by dragging each value to
the appropriate bin.

solution not a solution

Answer Bank

15 16 17

13) Identify which of the following are solutions of the inequality v — 5 < 17 by dragging each value to
the appropriate bin.

solution not a solution

Answer Bank

21 22 23

14) Identify which of the following are solutions of the inequality 3u < 1 by dragging each value to the
appropriate bin.

solution not a solution

Answer Bank

1 1 1
4 3 2
Copyright © 2024, McGraw-Hill Education. 5/21
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Student Name: Date:

H.W 1 >> Lesson 6-1

1) 1s 7, 8, or 9 the solution of the equation 4. 7 + x = 12.7?

&% & = 2. F Flen((x~ %)

2) J5 8, 9, or 10 the solution of the equation z + 8.9 = 17.9?

N Y = T Ao (= = >

3) Is 13, 14, or 15 the solution of the equation a + 12.3 = 27. 3?

\€+\l,57 14,5 M { Q«"_\b‘/w

4) Is 18, 19, or 20 the solution of the equation 3.6 + r = 21. 6?
S. € K =20 \’Ls-:u\i(\:)g)

5) Is 10, 11, or 12 the solution of the equation b—3.3 = 8. 7?

\2— 22 = Flwd do=13

6) s 13, 14, or 15 the solution of the equation z — 6. 4 = 7. 62

WM _¢.4="F-& Mo\ Z = 1w

7) Is 10, 11, or 12 the solution of the equatione — 4.9 = 5. 12

\o_ v . S =c roa(e=rs ¢

8) 15 16, 17, or 18 the solution of the equation i— 8.2 = 7. 8?

\ & - 2. =+ Fluan\ =) 6

9) Is 7, 8, or 9 the solution of the equation 4. 25y = 342

H.2C (R =3¢ Hauw Y =95
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Student Name: Date:

HW2 >>> Lesson 6-2

1) On Monday and Tuesday, Daniel’s service group collected of 48.4 pounds of cans for recycling. The
group collected 23 pounds of cans on Monday. Which addition equation could be used to find the
number of pounds of cans p Daniel’s group collected on Tuesday?

O 48.4+23=p
O 23+p=48.4
O 48.4+p=23
O 48.4+23=p+23

2) Isabella and Tiana have a fudge business. Last weekend, they made a total of 12.8 pounds of fudge.
Isabella made 4.6 pounds of fudge. Which addition equation could be used to find the number of
pounds of fudge 7 Tiana made?

O 4.6+12.8=t¢
O t+12.8=4.6
O 46+t=12.8
O 4.66=12.8

3) Jaylen and Destiny bought a video game that cost $65.75. Jaylen contributed $43 to the cost of the
video game. Which addition equation could be used to find how much money d Destiny contributed to
the cost of the video game?

O 43+d=65.75
O 43=65.75+d
O d=6575+43
QO d+65.75=43

4) Elena’s parents agree to pay for part of a computer that costs $845.75. Elena’s parents contribute $380
to the cost of the computer. Which addition equation could be used to find how much money ¢ Elena
must contribute to the cost of the computer?

O ¢ =845.75+ 380
O c+845.75 =380
O 380c = 845.75

O 380 +c¢ =2845.75

Copyright © 2024, McGraw-Hill Education. 1112
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Student Name: Date:

HW2 >>> Lesson 6-2

10) Solve 17 = 8 + b.

b

(F - =9

==

MSolve7+c=9.

C=_L
9 A= 2 C =2
12) Solve 9 + g = 23.
g=.
Y- 23 _F =1y
1 _ oyl
13) Solve 25 + x = 7.
3
=M . ¢
—a
/ e i 2 _ (5 _ 5 2 ¢, 02
LoFE 2= Fg-2F = eq T a
14 1 -
)Solve54 + =85,
2= 35
Y A =0 /
=- % -S> 27
15) Soive 62 = 11 +,
Y=
— = ¢ — L
Copyright © 2024, McGraw-Hill Education. 312
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Date:

Student Name:

HW2 >>> Lesson 6-2

16) Solve 115 = s+ 32.

l
Szii \ Hrr
e 23> = 3 2 /
— \ = _ — = _ rl

17) Solve 12.35 = 4. 85 + n.

e\ =

V= (2.2 gy g = <

18) Solve 14.65 = 3. 15+ r.

r=1/. s

N =W S —3.)g = s

19)
Solve for u.
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Student Name: Date:

H.W 3 >>>> Lesson 6-3

1) Brianna’s gymnastics club collected 83 toys for a toy drive. This is 26 fewer than the number of toys
collected by Latoya’s dance team. Select a subtraction equation that could be used to find the number of
toys collected by Latoya’s dance team.

O 26-t=283
O 83-t=26
O 26-83 =t
O +-26=283

2) The Tigers soccer team scored 38 goals last season. This is 19 fewer than the number of goals scored
by the Cubs soccer team. Select a subtraction equation that could be used to find the number of goals
scored by the Cubs soccer team last season.

O g-19 =38
O 19-g =38
O 19-38=¢
O 38-g=19

3) Ruby is 7 years old. She is the youngest of her siblings and 12 years younger than her oldest sibling.
Select a subtraction equation that could be used to find the age of Ruby’s oldest sibling,

O 12-a=7
O a=12-7
O a-12=7
O a=7-12

4) Water in an ice tray was cooled to 32 degrees Fahrenheit. This is 43 degrees less than its starting
temperature. Select a subtraction equation that could be used to find the change in the temperature of
the water in degrees.

O 32-43=w
O 43-32=w
O 43-w=32
O w-43 =32
Copyright © 2024, McGraw-Hill Education. 117
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Student Name: Date:

H.W 3 >>>> Lesson 6-3

9) Solve 17 = b—8.

b= RS

b- 7249

10) Solve 8 = x—5.

x=1(3

)Q:Zf—-g;\g

1) Solve i- 6 = 18.

i— 2.4

12) Solve d—3 = 11.

d=14

A= |+ > = 1y

13) Solvey—4%=2}1—_
Y= __
= 2L aul= 6
14) Solve 7 — 3% = 9%.
=
Z-alliz5 =92 55 = \2,::
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Student Name: Date:

H.W 3 >>>> Lesson 6-3

15) Solve lﬁ =r— 7%.

;-

Vlléa—l% =

16) Solve 133 =5 — 13-

S-\Erzi( - \3 ?:——i-l

17) Solve 5.8 = f—3. 35.

=

P.=.9,.3.235=°%.<

18) Solve 4. 35 = ¢ 6. 25.

=)o . &

= 25+ L 25- No.4
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Student Name: Date:

H.W 4 >>> Lesson 6-4

1) Carlos and his friends go to a movie. The total cost of their tickets is $110, and each person pays
$13.75. Which multiplication equation can be used to find how many people m buy tickets to the
movie?

O 13.75m = 110m
O m=13.75(110)
O 110m =13.75
O 13.75m =110

2) Danisha sells necklaces she makes at a craft fair. She earns a total of $152, and each necklace sells for
$9.50. Which multiplication equation can be used to find how many necklaces # Danisha sells?

O n=152(9.5)
O 9.5n=15
O 152n=9.5
O 9.5n=152n

3) A toy tester finds that a new battery-operated car takes % hour to travel a mile. The toy car travels for

2% hours before running out of battery power. Which multiplication equation can be used to find the

number of miles c the toy car travels before running out of battery power?
O 23c
1 3
O c=3(23)

5

O

g =Y

022 (})=c

4) 1t takes % hour to fill a gallon container with liquid soap from a dispenser in a factory. Yesterday, the

dispenser ran for 3% hours. Which multiplication equation can be used to find the number of gallons of

soap w that were dispensed?

A0
O 3;w=¢
2w =131
O Sw=33
= 2 (a1
Ow= 5 (33)
2= 3L
O EW = 33W
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10) Solve 24 = 6.

,
2 Lf -
3= 2 -
1) Solve 8f = 40.
=
Fote - <
2>
12) golve 35 = 39.
N
o 202y
=
3. 4
13) Solve L= 7
16
Z2=_ a2\
SO\ = —~ M A — _ |
D= = = \5D == —
—]
14) Solve 2a = 2
a:_
-g"\ i = 2
Q K :\“) q—- ‘= = g..
\ 2 e
15) Solve = = %i
iz_
>N z 3 ‘ >
C1>‘§‘:3—LQ’-{> (——
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Student Name: Date:

H.W 4 >>> Lesson 6-4

16) Solve% = %m.
£,
m=_"
7 5 C) NNN= —
T -

17) Solve 36.33 = 4. 2v.

v- % LS
\/—; _ % . és—

18) Solve 6. 3g = 47. 25.

s -
Y= ez - -

19)
Solve for n.

G
%n=30 ’——DK—— é——\/\; > ( %)
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H.W 5 >>> Lesson 6-5

1) Enrique uses 6.94 ounces of dough to make a pizza. He makes 27 pizzas on Tuesday. Which division
equation could be used to find the total number of ounces of dough p Enrique uses on Tuesday?

O@=27

Or=gx
O p+6.94 =27
O 27+p=6.94

2) Sarah walks the same number of miles each day on her treadmill. She walks 3.5 miles each day for one
week. Which division equation could be used to find the total number of miles w Sarah walks during

that week?

O 35+w=7
7

O E=W

O w=335+7

O w:3.57

3)A dog groomer has 295.2 ounces of dog shampoo. The groomer uses 2.4 ounces of shampoo to wash
each dog. Which division equation could be used to find the total number of dogs d the groomer can

wash?
O d+295.2=2.4

O =24
O & =295.2

4) Sam’s skateboard company has 457.6 feet of wood. Sam uses 3.2 feet of wood to make each
skateboard. Which division equation could be used to find the total number of skateboards s Sam can

make?

O ﬁ=3.2

O 5s+3.2=457.6
Otilbemng. >

O 3.2+5=457.6
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9) Solve 13 = -;-

—_—
\(\ - BL\3> = Bﬂ
10) Solve 9 = %_
u= >
=~ A1) = 3 &

1) Solve % = ¥

m=§?/)

\I\/\':, %Q%) =

67

12) Solve % = 7

W= 35
w = S (R
13) Solve £ = £
e\
= Z3):= &£ =%

14) Solve % =

|

qg=__
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H.W 5 >>> Lesson 6-5

\ }
z (a) = 53

17) Solve 6. 53 = SLS

v=_12 Y55

- SBEs D s 2 .gss

18) Solve 8. 45 =

"
632"

v=_53-\+0bf

V= %-45 (6.2 )=- 53 Yay
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H.W 6>>> Lesson 6-6

1) A pizza company has a rule that its pizza must be delivered in fewer than 24 minutes or it is considered
late. Which inequality represents the time ¢ in minutes in which the pizza must be delivered before it 1s
late?

O t<24
Q:t>24
Ot<24
O t>24

2) A customer gets free shipping when the cost of a purchase at an online store is more than $35, Which
inequality represents the amounts in dollars d a customer must spend to get free shipping?
O d<35
O d>35
O d<35
O d= 35

3) To ride a roller coaster, the rider must be at least 48 inches tall. Which inequality represents the height
in inches 7 that makes a rider tall enough to ride the roller coaster?
O i<48
O i>48
O i<L48
QO i>48

4) No more than 36 children can safely ride on the bus to go on the field trip. Which inequality represents
the number of children ¢ who can safely ride on the bus?
O 736
O c=36
O ¢ <36
O <36
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5) Which of the following shows the graph of the inequality # < —0. 52
—~y ——
-2 =15 -1 =05 0 05 1 15 2
O i } ; : { i ; I —
-2 =15 -1 =05 0 05 1 1.5 2
O —t—F—t+—+—t——f—t——>
-2 =15 -1 =05 0O 05 1 1.5 2
o—_
-2 =15 -1 -05 0 05 1 1.5 2
6) Which of the following shows the graph of the inequality m > 1. 62
0 -—f—-vt—i—oim—ep——p———1—F+——F+—=
1.0 1.4 1.4 16 1.8 20
O A —— ——+++—
1.0 1.2 14 1.6 1.8 20
o —F"F—F—t+—+—F+—b—vt———p—t—t—pp-
1.0 1.2 14 16 1.8 20
—y —t—t—t— ottt
1.0 1 14 1.6 1.8 2.0
7) Which of the following shows the graph of the inequality ¢ < —3. 75?2
O < —t——=— i I i { : —
-4 =35 =3 —2.5 =
T ——
—4 —3.5 —3 —2.5 )
O A ————————
—4 = 5 —3 —4.5 —2
Ot
-4 -=3.5 -3 -2.5 -2
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8) Which of the following shows the graph of the inequality r > —2. 25?

O i } ; i { i & —
—4 —3.5 —3 —25 -2
O } ; i { prep—
—4 —3.5 —3 —2.5 =2
N —— —
—4 — 3.0 —3 —2.5 —2
O —F—+— —
—4 —3.5 -3 2.5 =2
9) Which of the following shows the graph of the inequality %?
N ——+— —————t—t—>
-2 41 ~1 1 0
2 2
O — I ; e I >
~2 1 —1 1 0
2 2
O < ; ; prD—— I —
~2 il -1 1 0
2 2
O < l ; p—t—— I —
-2 i —1 1 0
2 2
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10) Which of the following shows the graph of the inequality u > %‘?

O i+ .
o 1 2 3 4 1 .1 .2
5 5 5 5 5 5
O .
o 1 2 3 4 1 .1 .2
5 7 2 2 5 5
—_—
o 1 2 3 4 1 L1 .2
5 5 5 5 5 5
O—tt—
o 1 2 3 4 1 L1 .2
5 5 b b 5 5

1) 1dentify which of the following are solutions of the inequality z — 3 < 9 by dragging each value to
the appropriate bin.

solution

not a solution

I (

(2

\3

?.
A< 9

Y<9q v
@—-‘%<T

T <= ~

Answer Bank

"

12

13
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H.W 6>>> Lesson 6-6

12) 1dentify which of the following are solutions of the inequality & + 6 > 23 by dragging each value to
the appropriate bin.

solution not a solution [‘19 _\, é 3

= = 2,(72-3 X
\' 6

Answer Bank

15 16 17

13) Identify which of the following are solutions of the inequality v — 5 < 17 by dragging each value to
the appropriate bin.

4
solution not a solution Qf - g ’\< \‘%—'
Ca Vi 6 (F+

2

Answer Bank

21 22 23

14) 1dentify which of the following are solutions of the inequality 3u < 1 by dragging each value to the
appropriate bin,

solution not a solution 5 / (Q

2 \
AN
3
Answer Bank
d L 1
4 3 B
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